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50,000& = 20=tA
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7008 * 25004
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10,0000 * 7CH
o Ngg Il PY 30,0008 * 5%
o PZ%E 7 10,0008 * 153
o gNg T 7Y UL M|
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=X 2
T -

=
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o
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*
N
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Sl Eay=

=294l
<EBEQZYHA >
o MIIRS

o & -olxE AEE
o 2g0dz3 & oH
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o AL BEY2
< XtEdl >

o XKl

25,000& = 9OH

31,000,000&
5,000,000

A AER

35,000 = 12/
20,000& = 73l H
1,000,000&

3,000,000&
1,192& = 5404

* 43

* 128

* 23]

* 128

* 123
* 43

* 43]

* 128
* 128
* 128

* 18
* 23]

* 23]

* 53

* 243

* 132
* 128
* 128
* 128
* 128
* 128
* 128

* 23]

= 100
= 10H

9,900
1,600
1,500

5,000
1,800
9,160
2,160
4,000
3,000

2,100
268
36
232

700
300
300

500
168

16,900
5,950
10,950

1,092
0
12,600

2,700

439,744

0

372,000
60,000

420
1,680
2,000

0
3,000
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- 591 -

=

i
2




<d
o3

SHAIE A

il

2N

<

n0

Kio

Hl w

H3r
Wikd
RIS

4,880

680

Off &t 24

4,880

680
680
4,200
4,200

K]
KF
ok
ol

KJ
Kt
oF
ol

e

02 &t

4,200

- 592 -

179
128

2«
2l

40,000
350,000




